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2.53 A \/2dipole, with a total loss resistance of | ohm, is connected to a generator whose internal
impedance is 50 4 j25 ohms. Assuming that the peak voltage of the generator is 2 V and the
impedance of the dipole, excluding the loss resistance, is 73 + j42.5 ohms, find the power
(a) supplied by the source (real) (b) radiated by the antenna
(c) dissipated by the antenna

e Make generator peak voltage 12 V and impedance of 50-720Q. [Hint: Look at
Chapter 4 section on A/2 dipoles.]

e Per (4-93a), Zin="73 +j42.5 Q for a lossless A/2 dipole.
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